F5%3) A=

4 A 20133 39 119 2F 34
T 2 NEA YTET AYEF 42, EIEFuy 92 3o
R . FFEFF 1% L8F4E2 20,000,000 3

| ZAAPAL F2]4= 20,000,000 F (Y2220 100%)

Je

A A FHALL LT AN Suard Avle BHgR 2
FFED AT A9 WY FA5ol ke 237 2YHY0
7

F AHeA 4d9AES Hgstn, A3s AAs,

=
AEAET FEFEAG B HE A 203 2o oA
& Y FFA T ul, £ A st
T4 20,000,000 F(LHFA)E50] 1006, JAAPAF FA2 100%),
A4 0 FOLPFAFF 0%, JBFEHPAL FA59 )2 2913
u}

2 3W A8 N AL AR A2 T 9A 2 ogke stAsig

e
5y
rlo
9
o
[o
il
0
o,
1o
[-'0
e

>
1o

b
il
i
i
dle
filo
1
AL
k
A
o
ol
[

A5t

Flef 25 BFs 7] st B AR AAdsta oFpo] olgd] 7]

20139 3¢ 119

THEEHEEHEAFTATALAL 2 S [APEF]

o, FaA  HAANL 8




